

## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: January 17, 2023

\$4,584,390.50 \$0.00 \$4,584,390.50	•	od Start See NTP Date od End January 15, 202		221118-F06 R. V. Wagner, Inc.	Contract ID Prime Contractor	nate Number	Progress Estin
By User							Approval Date
gummer1	Draft) at the Project Office Level by	should be considered Dra	prove	Generated and Appr	(		January 17, 2023
vancef1	ft) at the Resident Engineer Level by	ld be considered Draft) at	ed (ar	ewed and Approved	Revie		January 18, 2023
ramses1	ral Office Controllers Office Level by	Approved at the Central O	eviewe	Rev			January 18, 2023
	0/ 50 10 11	1.00	_				0.1.1.10

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2023	November 1, 2023		2.42%

	Contract Informational Dat	tes	Milestones
Date Description	Original Completion Date	<b>Current Completion Date</b>	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	December 6, 2022	December 6, 2022	
Letting Date	November 18, 2022	November 18, 2022	
Notice to Proceed Date	January 9, 2023	January 9, 2023	
Open to Traffic Date			
Work Began Date			

Contract Total Pay	y For Estimate No. 1				
		This Estimate	Previous	To Date	
221118-F06					
	Total Posted Items Pay	\$111,033.73	\$0.00	\$111,033.73	
	Gross Item Adjustments	(\$9,893.84)	\$0.00	(\$9,893.84)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$0.00	\$101,139.89	
<b>Contract Total Pay</b>	yable This Estimate:	\$101,139.89			

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3432	0020	2035000	UNCLASSIFIED EXCAVATION	CUYD	\$21.000	766.2	\$16,090.20
	0110	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$9.300	1,107.1	\$10,296.03
	0260	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	LS	\$21,000.000	0.5	\$10,500.00
	0270	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED AND RETAINED)	EA	\$3,000.000	2	\$6,000.00
	0290	6181000	MOBILIZATION	LS	\$208,000.000	0.25	\$52,000.00
	0410	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$13,000.000	0.25	\$3,250.00
	0590	8061005	ROCK DITCH CHECK	LF	\$21.500	169	\$3,633.50
	0620	8061019	SILT FENCE	LF	\$4.000	2,316	\$9,264.00
Project Je	S3432 - T	otal					\$111,033.73
Overall -	Total						\$111,033.73

### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3432	0020	UNCLASSIFIED EXCAVATION	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	766.2	(\$0.39)	(\$298.82)
	0110	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,107.1	(\$0.30)	(\$331.02)

Revision 4/1/2020 Page 1 of 8

-2,316

\$4.00

(\$9,264.00)

(\$9,893.84)



## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: January 17, 2023

0620

Total

SILT FENCE

Material

Progr	ess Es	timate Number 1	Contract II Prime Con		I18-F06 . Wagner, Inc.	Pay Period End January 15, 2023 Net Ch	al Contract A lange Order A lt Contract A	Amount \$0	4,584,390.50 0.00 4,584,390.50
Project Number	Line No.	Item Descr	iption	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3432	0110	TYPE 5 AGGRE BASE (6	GATE FOR IN. THICK)	Material			-1,107.1	\$9.30	(\$10,296.03)
	0110	TYPE 5 AGGRE BASE (6	EGATE FOR 3 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user gummer1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	1,107.1	\$9.30	\$10,296.03
	0590	ROCK DIT	CH CHECK	Material			-169	\$21.50	(\$3,633.50)
	0590	ROCK DIT	CH CHECK	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user gummer1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	169	\$21.50	\$3,633.50

Revision 4/1/2020 Page 2 of 8



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Informatio	n			
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work			
J6S3432	FAS S502(36)	Add J-turns	dd J-turns M JEFFERSON on Route M at St. Lukes Church Road and Route M at Moss Hollow Road							
Γotals by .	Job Numbe	rs								
J6S3432					This Estimate	Previous	To Date			
J6S3432		d Item Pay Item Adjustm			\$111,033.73 (\$9,893.84)	\$0.00 \$0.00	\$111,033.73 (\$9,893.84)			
J6S3432				s Item Pay	\$111,033.73	\$0.00	\$111,033.73			
J6S3432		Item Adjustm		s Item Pay	\$111,033.73 (\$9,893.84)	\$0.00 \$0.00	\$111,033.73 (\$9,893.84)			
J6S3432	Incent Dising	Item Adjustm tive centive	Gross	s Item Pay	\$111,033.73 (\$9,893.84) <b>\$101,139.89</b>	\$0.00 \$0.00 <b>\$0.00</b>	\$111,033.73 (\$9,893.84) <b>\$101,139.89</b>			
J6S3432	Incent Dising Liquid	Item Adjustm	Gross	ŕ	\$111,033.73 (\$9,893.84) <b>\$101,139.89</b> \$0.00	\$0.00 \$0.00 <b>\$0.00</b> \$0.00	\$111,033.73 (\$9,893.84) <b>\$101,139.89</b> \$0.00			

Revision 4/1/2020 Page 3 of 8



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3432, Item 3040506, Project Item Line Number 0110, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	WAITING ON QC AND QA TO ENTER TESTS	gummer1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3432, Item 3040506, Project Item Line Number 0110, Material Set 304050696, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	NEED TO ENTER CERTIFICATION REPORT AT INSPECTOR LEVEL, OVERRIDE ONE TIME	gummer1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3432, Item 8061005, Project Item Line Number 0590, Material Set 806100596, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient.	WAITING ON INSPECTOR TO ENTER TEST	gummer1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3432, Item 8061019, Project Item Line Number 0620, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	WAITING ON QC FOR CERTIFICATION TO ENTER TEST	gummer1	Acknowledged

Revision 4/1/2020 Page 4 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221118-F06	J6S3432	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$56,000.00	\$0.00
		0001	0020	2035000	UNCLASSIFIED EXCAVATION	2,795.00	0.00	2,795.00	CUYD	766.20	\$21.00	\$16,090.20
		0001	0030	2035500	EMBANKMENT IN PLACE	2,228.00	0.00	2,228.00	CUYD	0.00	\$36.00	\$0.00
		0001	0040	2036000	COMPACTING EMBANKMENT	2,541.00	0.00	2,541.00	CUYD	0.00	\$10.00	\$0.00
		0001	0050	2037075	COMPACTING IN CUT	107.00	0.00	107.00	STA	0.00	\$140.00	\$0.00
		0001	0060	2063000	CLASS 3 EXCAVATION	592.00	0.00	592.00	CUYD	0.00	\$11.00	\$0.00
		0001	0070	2063100	CLASS 3 EXCAVATION IN ROCK	584.00	0.00	584.00	CUYD	0.00	\$140.00	\$0.00
		0001	0800	2063500	CULVERT CLEANOUT	1.00	0.00	1.00	EA	0.00	\$2,500.00	\$0.00
		0001	0090	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	0.00	\$8,000.00	\$0.00
		0001	0100	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	102.00	0.00	102.00	SQYD	0.00	\$10.50	\$0.00
		0001	0110	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	15,918.00	0.00	15,918.00	SQYD	1,107.10	\$9.30	\$10,296.03
		0001	0120	4010150	TYPE A2 SHOULDER	4,303.00	0.00	4,303.00	SQYD	0.00	\$55.00	\$0.00
		0001	0130	4019905	MISC.OPTIONAL PAVEMENT	11,615.00	-11,615.00	0.00	SQYD	0.00	\$75.00	\$0.00
		0001	0131	5021308	CONCRETE PAVEMENT (8 IN. NON-REINFORCED, 15 FT.	0.00	11,615.00	11,615.00	SQYD	0.00	\$75.00	\$0.00
		0001	0140	6044011	JOINTS) PIPE COLLAR, TYPE A	3.00	0.00	3.00	EA	0.00	\$900.00	\$0.00
		0001	0150	6083003	3 IN. CONCRETE MEDIAN STRIP	1,570.00	0.00	1,570.00	SQYD	0.00	\$58.00	\$0.00
		0001	0160	6097000	ROCK LINING	106.00	0.00	106.00	CUYD	0.00	\$108.00	\$0.00
		0001	0170	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	4.00	0.00	4.00	EA	0.00	\$3,500.00	\$0.00
		0001	0180	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	1,019.00	0.00	1,019.00	SQYD	0.00	\$144.00	\$0.00
		0001	0190	6131012	DEPTH PAVEMENT REPAIR SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	102.00	0.00	102.00	SQYD	0.00	\$9.00	\$0.00
		0001	0200	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER	5,822.00	0.00	5,822.00	LF	0.00	\$4.50	\$0.00
			0210	6131015	AND INTERNAL SAW CUTS)  DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION)	2,900.00	0.00	2,900.00	EA	0.00	\$14.00	\$0.00
		0001			FOR FULL DEPTH PAVEMENT REPAIR							
		0001	0220	6141023	GRATE AND BEARING PLATE (5 FT. X 2 FT. OR 1524 MM X 610 MM)	1.00	0.00	1.00	EA	0.00	\$1,800.00	\$0.00
		0001	0230	6141024	GRATE AND BEARING PLATE (5 FT. X 3 FT. OR 1524 MM X 914 MM)	7.00	0.00	7.00	EA	0.00	\$3,000.00	\$0.00
		0001	0240	6143012	MANHOLE FRAME AND COVER, TYPE 2	2.00	0.00	2.00	EA	0.00	\$560.00	\$0.00
		0001	0250	6143014	MANHOLE FRAME AND COVER, TYPE 4	2.00	0.00	2.00	EA	0.00	\$518.00	\$0.00
		0001	0260	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$21,000.00	\$10,500.00
		0001	0270	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED AND RETAINED)	5.00	0.00	5.00	EA	2.00	\$3,000.00	\$6,000.00
		0001	0280	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	600.00	0.00	600.00	LF	0.00	\$41.00	\$0.00
		0001	0290	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$208,000.00	\$52,000.00
		0001	0300	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	1.00	0.00	1.00	EA	0.00	\$600.00	\$0.00
		0001	0310	6191000	PAVEMENT EDGE TREATMENT	11,193.00	0.00	11,193.00	LF	0.00	\$1.25	\$0.00
		0001	0320	6200012	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE	878.00	0.00	878.00	LF	0.00	\$10.80	\$0.00
		0001	0330	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	335.00	0.00	335.00	LF	0.00	\$21.60	\$0.00
		0001	0340	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	31.00	0.00	31.00	EA	0.00	\$302.00	\$0.00
		0001	0350	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD	12.00	0.00	12.00	EA	0.00	\$540.00	\$0.00
		0001	0360	6200042	(ONLY)  PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN	112.00	0.00	112.00	EA	0.00	\$81.00	\$0.00
		0001	0370	6205902A	WHITE, YIELD LINE TRIANGLES  6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	15,381.00	0.00	15,381.00	LF	0.00	\$0.55	\$0.00
		0001	0380	6205903A	PAINT, TYPE L BEADS  6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	9,506.00	0.00	9,506.00	LF	0.00	\$0.55	\$0.00
		0001	0390	6207001	PAVEMENT MARKING REMOVAL	14,916.00	0.00	14,916.00	LF	0.00	\$1.10	\$0.00
		0001	0400	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	29.00	0.00	29.00	EA	0.00	\$81.00	\$0.00
		0001	0410	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.25	\$13,000.00	\$3,250.00
		0001	0415	7032002	CLASS B CONCRETE (MISC)	1.80	0.00	1.80	CUYD	0.00	\$600.00	\$0.00
					/							75.50

Page 5 of 8 Revision 4/1/2020



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221118-F06	J6S3432	0001	0420	7261012	12 IN. PIPE GROUP A	6.00	0.00	6.00	LF	0.00	\$135.00	\$0.00
		0001	0430	7261015	15 IN. PIPE GROUP A	70.00	0.00	70.00	LF	0.00	\$106.00	\$0.00
		0001	0440	7261018	18 IN. PIPE GROUP A	519.00	0.00	519.00	LF	0.00	\$70.00	\$0.00
		0001	0450	7261024	24 IN. PIPE GROUP A	353.00	0.00	353.00	LF	0.00	\$108.00	\$0.00
		0001	0460	7265018	JACKED 18 IN. CLASS III REINFORCED CONCRETE PIPE CULVERTS (GASKET TYPE)	235.00	0.00	235.00	LF	0.00	\$3,280.00	\$0.00
		0001	0470	7265024	JACKED 24 IN. CLASS III REINFORCED CONCRETE PIPE CULVERTS (GASKET TYPE)	236.00	0.00	236.00	LF	0.00	\$3,300.00	\$0.00
		0001	0480	7269902	MISC.POTHOLING UTILITY FACILITIES	12.00	0.00	12.00	EA	0.00	\$810.00	\$0.00
		0001	0490	7310048	PRECAST CONCRETE MANHOLE - 48 IN.	30.00	0.00	30.00	FT	0.00	\$400.00	\$0.00
		0001	0500	7311052	PRECAST CONCRETE DROP INLET 5 FT X 2 FT	7.00	0.00	7.00	FT	0.00	\$648.00	\$0.00
		0001	0510	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	46.00	0.00	46.00	FT	0.00	\$660.00	\$0.00
		0001	0520	7320615A	15 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$1,600.00	\$0.00
		0001	0530	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	3.00	0.00	3.00	EA	0.00	\$1,850.00	\$0.00
		0001	0540	7321014A	18 IN. OR ALLOWED SUBSTITUTE SAFETY SLOPE END SECTION	1.00	0.00	1.00	EA	0.00	\$972.00	\$0.00
		0001	0550	7321016A	24 IN. OR ALLOWED SUBSTITUTE SAFETY SLOPE END SECTION	5.00	0.00	5.00	EA	0.00	\$994.00	\$0.00
		0001	0560	8052000A	SEEDING - WARM SEASON GRASSES	5.00	0.00	5.00	ACRE	0.00	\$5,400.00	\$0.00
		0001	0570	8061003	SEDIMENT TRAP EXCAVATION	48.00	0.00	48.00	CUYD	0.00	\$12.00	\$0.00
		0001	0580	8061004	SEDIMENT TRAP ROCK	48.00	0.00	48.00	CUYD	0.00	\$76.00	\$0.00
		0001	0590	8061005	ROCK DITCH CHECK	540.00	0.00	540.00	LF	169.00	\$21.50	\$3,633.50
		0001	0600	8061006	ALTERNATE DITCH CHECK	972.00	0.00	972.00	LF	0.00	\$8.50	\$0.00
		0001	0610	8061016	SEDIMENT REMOVAL	241.00	0.00	241.00	CUYD	0.00	\$20.00	\$0.00
		0001	0620	8061019	SILT FENCE	3,304.00	0.00	3,304.00	LF	2,316.00	\$4.00	\$9,264.00
		0001	0630	8061050	TYPE C BERM	51.00	0.00	51.00	LF	0.00	\$44.00	\$0.00
		0020	0640	9011062	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 2	12.00	0.00	12.00	EA	0.00	\$3,650.00	\$0.00
		0020	0650	9011115	BRACKET ARM, 15 FT. OR 4.6 M	12.00	0.00	12.00	EA	0.00	\$1,370.00	\$0.00
		0020	0660	9011312	LUMINAIRE, LED-B	12.00	0.00	12.00	EA	0.00	\$437.00	\$0.00
		0020	0670	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	137.00	0.00	137.00	LF	0.00	\$24.50	\$0.00
		0020	0680	9014003	CONDUIT, 3 IN. RIGID, PUSHED	878.00	0.00	878.00	LF	0.00	\$37.50	\$0.00
		0020	0690	9015010	TRENCHING TYPE I	276.00	0.00	276.00	LF	0.00	\$4.00	\$0.00
		0020	0700	9015020	TRENCHING TYPE II	6,705.00	0.00	6,705.00	LF	0.00	\$6.00	\$0.00
		0020	0710	9016110	PULL BOX, PREFORMED CLASS 1	22.00	0.00	22.00	EA	0.00	\$1,441.00	\$0.00
		0020	0720	9016112	PULL BOX, PREFORMED CLASS 3	1.00	0.00	1.00	EA	0.00		\$0.00
		0020	0730	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	1,510.00	0.00	1,510.00	LF	0.00	\$1.00	\$0.00
		0020	0740	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	9,990.00	0.00	9,990.00	LF	0.00	\$3.75	\$0.00
		0020	0750	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	12.00	0.00	12.00	EA	0.00	\$2,600.00	\$0.00
		0020	0755	9019902	MISC.170W TOP-MOUNTED LED-B LUMINAIRE	4.00	0.00	4.00	EA	0.00	\$500.00	\$0.00
		0020	0765	9019902	MISC.PAD MOUNTED 240/480 VOLT POWER SUPPLY AND LIGHTING CONTROLLER	2.00	0.00	2.00	EA	0.00	\$10,770.00	\$0.00
		0040	0770	9031010	CONCRETE FOOTINGS, EMBEDDED	30.20	0.00	30.20	CUYD	0.00	\$2,000.00	\$0.00
		0040	0780	9031220	PIPE POSTS	15,680.00	0.00	15,680.00	LB	0.00	\$7.00	\$0.00
		0040	0790	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	52.00	0.00	52.00	EA	0.00	\$86.00	\$0.00
		0040	0800	9035004A	SH-FLAT SHEET	1,244.00	0.00	1,244.00	SQFT	0.00	\$25.00	\$0.00
		0040	0810	9035069A	SHF-FLAT SHEET FLUORESCENT	116.00	0.00	116.00	SQFT	0.00	\$28.00	\$0.00
		0070	0820	7071000	CONDUIT SYSTEM ON STRUCTURE	1.00	0.00	1.00	LS	0.00	\$7,500.00	\$0.00
221118-F06 Ovo					ate as of Report Generated Date							\$111,033.73 \$111,033.73
	. un - I otal	- alue F USI	oa to Dat	o ao oi itept	or constant but							ψ111,000.73

Page 6 of 8 Revision 4/1/2020



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6S3432

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2035000	UNCLASSIFIED EXCAVATION	1/15/23	1/17/23	766.20	CUYD	Full depth shoulder and Acel/Decell Lane East on Route M. Right of Tangent	318+30		379+87		
0110	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	1/15/23	1/17/23	167.20	SQYD	Decell Lane widening at Moss Hollow Rd.	364+21		367+41		
				1/17/23	270.90	SQYD	Decell lane widening at St. Lukes Church Rd.	318+30		322+58		
				1/17/23	669.00	SQYD	Acel Lane widening East of Moss Hollow.	368+51		379+87		
0260	6169901	MISC.	1/9/23	1/16/23	0.50	LS	Project limits	305+00		386+04		First partial payment. 50%
0270	6169902	MISC. TRAFFIC CONTROL DEVICES	1/9/23	1/16/23	2.00	EA	Route M 293+00 400+00	293+00				
0290	6181000	MOBILIZATION	1/15/23	1/17/23	0.25	LS	Route M jobsite limits	308+55		386+04		First partial payment. 25%
0410	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	1/15/23	1/17/23	0.25	LS	Route M Project Limits	305+00		386+04		Partial payment. 25% of total LS.
0590	8061005	ROCK DITCH CHECK	1/10/23	1/16/23	169.00	LF	Route M going Eastbound	308+55		321+20		
0620	8061019	SILT FENCE	1/10/23	1/16/23	836.00	LF	St. Lukes Church Rd and Route M	321+20		329+50		
			1/11/23	1/16/23	1,480.00	LF	Route M going Eastbound.	364+10		379+05		

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 4/1/2020 Page 7 of 8

Jan 19, 2023



## Line Item Adjustments by Estimate

Contract ID: 221118-F06

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3432	0020	UNCLASSIFIED EXCAVATION	Price FUEL		1	Jan 17, 2023	SYSTEM	(\$298.82)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$298.82)	
			Price FUEL - Total					(\$298.82)	
	0020 - Total							(\$298.82)	
	0110	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		1	Jan 17, 2023	SYSTEM	\$10,296.03	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user gummer1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Jan 17, 2023	SYSTEM	(\$10,296.03)	
				- Total				\$0.00	
			Material - Total					\$0.00	
			Price FUEL		1	Jan 17, 2023	SYSTEM	(\$331.02)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$331.02)	
			Price FUEL - Total					(\$331.02)	
	0110 - Total							(\$331.02)	
	0590	ROCK DITCH CHECK	Material		1	Jan 17, 2023	SYSTEM	\$3,633.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user gummer1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	Jan 17, 2023	SYSTEM	(\$3,633.50)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0590 - Total							\$0.00	
	0620	SILT FENCE	Material		1	Jan 17, 2023	SYSTEM	(\$9,264.00)	
			- Total					(\$9,264.00)	
			Material - Total					(\$9,264.00)	
	0620 - Total							(\$9,264.00)	
J6S3432 - Total							(\$9,893.84)		
Overall -	Overall - Total							(\$9,893.84)	